RERE-AIVITRERRISOLVTHERER -58)

BT H L
240 5
100Bq/kgZ #8253 DO
_ AIERE
No BT RE B B HEDIELE trL-134 t 9,137 AEE
(Bg.kg) (Bg. kg) (Bg.kg)
1 | EIFET(IBFEGF) H25.8.7 K= 10.2 20.0 30
2 | EITET(IBFZEEH) H25.8.7 KE 13.3 18.3 32
3 | EIFET(IBFZEEH) H25.8.7 K= 10.9 25.0 36
4 | RFET(IBFEZEGH) H25.8.7 K= 1.4 23.3 35
5 | FEH7ET(IBFZEEH) H25.8.7 K= 9.71 20.2 30
6 | EITET(IBFZEEH) H25.8.7 K= 12.0 229 35
7 | EIET(BFZEEFH) H25.8.7 K= 13.6 26.1 40
8 | ZiTET(IBFZEGH) H25.8.7 K= 13.7 26.0 40
9 | EITET(IBFZEEF) H25.8.7 K= 12.2 31.6 44
10 | SH7ET (IBFZEEH) H25.8.7 K= 13.2 36.1 49
11 | E37ET (IBFZEEF) H25.8.7 K= 14.3 36.6 51
12 | 28T (IBFZEF) H25.8.7 XK= 12.6 24.0 37
13 | ZHrET (IBFZEEH) H25.8.7 K= 10.1 26.2 36
14 | Z8T (IBFZEF) H25.8.7 K= 9.93 29.2 39
15 | ZHrET (IBFZEH) H25.8.7 K= 9.70 25.9 36
16 | ZEH7ET (IBFZEEH) H25.8.7 K= 8.20 232 31
17 | S4BT (IBFZEEH) H25.8.7 K= 23.6 30.8 54




AEHER

No 15T £REY B By AHDEHE > L-134 9 L-137 BHIE
(Ba/ke) (Bakg) (Bakg)
18 | SRHTHT (IBEHEEFT) H25.8.7 = 14.7 344 49
19 | RHTHT (IBEHEEF) H25.8.7 K= 17.3 43.1 60
20 | SHTET (IBFHZEF) H25.8.7 pN=1 109 31.4 42
21 | RIFHET (IBFZEH) H25.8.7 K= 16.1 28.8 45
22 | SITRT (IBFHZIEF) H25.8.7 = 12.2 30.0 42
23 | RIFHET (IBFZEF) H25.8.7 K= 8.26 25.6 34
24 | FAFHET (1BFZRH) H25.8.7 K= 14.3 26.4 41
25 | RAFHET (IBFZEH) H25.8.7 = 11.3 25.0 36
26 | FIFHET (1BFZEH) H25.8.7 K= 10.8 31.0 42
27 | RIFHET (1BFZEH) H25.8.7 = 1.3 28.5 40
28 | SFAFHET (IBFZEH) H25.8.7 K= 20.1 36.4 57
29 | RIFHET (1BFZEH) H25.8.7 = 21.2 40.1 61
30 | EAFHET (IBFZEH) H25.8.7 K= 18.4 376 56
31 | RiFHT (IBGHEEH) H25.8.7 = 19.1 43.0 62
32 | RiTHT (IBGHEEH) H25.8.7 K= 17.7 36.6 54
33 | FIFHET (IBFZEH) H25.8.7 = 115 323 44
34 | ZiTHT (IBGHEEH) H25.8.7 K= 1.0 29.2 40
35 | ZAFHET (IBFZEH) H25.8.7 = 20.0 35.5 56
36 | EITHT (IBGHEEH) H25.8.7 K= 16.5 27.1 44
37 | EIFHET (IBFZEH) H25.8.7 X=E 176 29.1 47




AEHER

No 15T £REY B By AHDEHE > L-134 9 L-137 BHIE
(Ba/ke) (Bakg) (Bakg)
38 | ZAFHT (IBFZWEH) H25.8.7 = 21.2 50.3 72
39 | RIFHET (IBFZWEH) H25.8.7 K= 17.2 226 40
40 | RITHT (IBFEEH) H25.8.7 pN=1 8.60 18.7 27
41 | BRATET (IBGHEEF) H25.8.7 K= 9.96 20.8 31
42 | RITHT(IBFZEF) H25.8.7 pN=1 9.64 14.8 24
43 | FATHET (IBGHEEF) H25.8.7 K= 9.76 19.6 29
44 | RATHET (IBGZBF) H25.8.7 K= 7.08 234 30
45 | Z4THET (IBGZEEF) H25.8.7 = 6.50 22.9 29
46 | SFATHET (IBGZBF) H25.8.7 K= 10.8 16.3 27
47 | RATET (IBGZEEF) H25.8.7 = 9.83 22.9 33
48 | SEATHT (IBGHZRF) H25.8.7 K= 9.26 21.7 31
49 | S4THET (IBFZEEF) H25.8.7 = 12.3 245 37
50 | SAFHET (IBFZEH) H25.8.7 K= 9.33 224 32
51 | RIFHET (IBFZEH) H25.8.7 = 8.01 20.5 29
52 | ZTHT (IBGHEEH) H25.8.7 K= 9.31 18.2 28
53 | ZAHET (IBFZEH) H25.8.7 = 9.74 221 32
54 | ZHTHT (IBGHEEH) H25.8.7 K= 12.6 16.8 29
55 | ZATHT (IBFZEH) H25.8.7 = 9.88 18.4 28
56 | ZHTHT (IBGHEEH) H25.8.7 K= 8.48 245 33
57 | ZIFHET (IBFZEH) H25.8.7 = 11.6 22.9 35




AEHER

No 15T £REY B By AHDEHE > L-134 9 L-137 BHIE
(Ba/ke) (Bakg) (Bakg)
58 | ZAHT (IBFZ WA H25.8.7 = 10.8 28.8 40
59 | RAFHET (IBFZEH) H25.8.7 K= 11.8 214 33
60 | SHTET (IBFZIEF) H25.8.7 = 6.43 25.9 32
61 | RITHET (IBFZEF) H25.8.7 K= 8.56 19.8 28
62 | SHTET (IBHFZIEF) H25.8.7 = 9.99 25.0 35
63 | RATHET (IBFZEH) H25.8.7 K= 14.0 20.4 34
64 | SATHET (IBFZRH) H25.8.7 K= 6.66 234 30
65 | ZRATHT (IBFZEH) H25.8.7 = 12.7 19.0 32
66 | SATHET (IBFZRH) H25.8.7 K= 10.1 21.0 31
67 | RITHET (IBFZEH) H25.8.7 = 134 33.0 46
68 | SAFTHET (IBFZWRH) H25.8.7 K= 1.0 27.0 38
69 | ZIFTHET (IBFZEH) H25.8.7 = 10.2 22.3 33
70 | SEHTHT (IBFZEH) H25.8.7 K= 8.24 232 31
71| SRHTHT (IBFZEH) H25.8.7 = 9.30 29.6 39
72 | ETHET (IBFZBEF) H25.8.7 K= 13.0 225 36
73 | SRHTHT (IBFZEH) H25.8.7 = 10.2 225 33
74 | ETHT (IBFZBF) H25.8.7 K= 15.5 276 43
75 | SRHTHT (IBFZEH) H25.8.7 = 10.1 214 32
76 | EITHT (IBFZBEF) H25.8.7 K= 10.8 20.3 31
77 | SHTHT (IBFZEA) H25.8.7 = 1.4 238 35




AEHER

No 15T £REY B By AHDEHE > L-134 9 L-137 BHIE
(Ba/kg) (Bakg) (Bakg)
78 | SRHTHT (IBFZEH) H25.8.7 = 9.69 255 35
79 | SRHTHT (IBFZEH) H25.8.7 K= 8.54 18.0 27
80 | SHTHT (IBFZIEH) H25.8.7 = 133 29.2 43
81 | RAFHET (IBFZWEH) H25.8.7 K= 13.8 25.4 39
82 | TR (IBFZIEH) H25.8.7 = 9.49 25.7 35
83 | RAFHT (IBFZWEH) H25.8.7 K= 135 228 36
84 | SAFHET (IBFZWRH) H25.8.7 K= 12.1 20.5 33
85 | ZRATHT (IBFZEH) H25.8.7 = 14.3 21.7 42
86 | ZAFHT (IBFZWRH) H25.8.7 K= 10.1 22.1 32
87 | RAFHET (IBFZWEH) H25.8.7 = 144 245 39
88 | ZAFHT (IBFZWH) H25.8.7 K= 13.3 336 47
89 | ZIFHT (IBFZWEH) H25.8.7 = 125 19.7 32
90 | EIFHET (IBFZWRH) H25.8.7 K= 1.4 26.9 38
91 | RIFHET (IBFZEH) H25.8.7 = 138 25.3 39
92 | ZiTHT (IBGHEEH) H25.8.7 K= 8.46 254 34
93 | FIFHET (IBFZEH) H25.8.7 = 14.2 29.0 43
94 | ZiTHT (IBGHEEH) H25.8.7 K= 9.56 26.0 36
95 | ZIFHET (IBFZEH) H25.8.7 = 103 25.3 36
96 | EHTHT (IBGHEEH) H25.8.7 K= 12.2 20.5 33
97 | FIFHET (IBFZWEH) H25.8.7 X=E 118 24.1 36




AEHER

No 15T £REY B By AHDEHE > L-134 9 L-137 BHIE
(Ba/ke) (Bakg) (Bakg)
98 | ZIFHT (IBFZWEH) H25.8.7 = 14.6 26.9 42
99 | RIFHET (IBFZWEH) H25.8.7 K= 9.71 20.0 30
100 | SEHTHT (IBEHZERAT) H25.8.7 = 13.2 27.8 41
101 | SEHTHT (IBEHZEEF) H25.8.7 K= 9.92 30.5 40
102 | SEHTHT (IBEHZERAT) H25.8.7 = 9.16 25.5 35
103 | SEHTHT (IBEHZEEF) H25.8.7 K= 751 26.5 34
104 | SEHTHT (IBEHERAT) H25.8.7 K= 7.36 25.0 32
105 | SEHTHT (IBEHZERF) H25.8.7 = 105 23.3 34
106 | SEHTHT (IBFHZEIRAT) H25.8.7 K= 10.6 20.2 31
107 | SHTHT (IBEHEEF) H25.8.7 = 13.9 28.1 42
108 | Z4THT (IB{FZIEF) H25.8.7 K= 13.7 23.1 37
109 | SEHTHT (IBEHZEEFT) H25.8.7 = 7.17 25.8 33
110 | Z4HET (IBFZEF) H25.8.7 K= 12.8 22.1 35
11 | SHTHT (IBEHZEEF) H25.8.7 = 10.0 25.3 35
112 | Z4HET (IBFZEF) H25.8.7 K= 9.90 21.7 38
113 | SHTHT (IBEHZEEH) H25.8.7 = 135 22.8 36
114 | Z47HET (IBFZEF) H25.8.7 K= 12.7 24.1 37
115 | SEHTHT (IBEHZEEHT) H25.8.7 = 1.3 25.6 37
116 | Z4THT (IR ZEF) H25.8.7 K= 1.4 25.1 37
117 | SHTHT (IBEHERH) H25.8.7 = 7.35 270 34




AEHER

No 15T £REY B By AHDEHE > L-134 9 L-137 BHIE
(Ba/ke) (Bakg) (Bakg)
118 | SRHTHT (IBEFHZERHT) H25.8.7 = 15.9 29.8 46
119 | SHTHT (IBEHZEEF) H25.8.7 K= 13.3 27.0 40
120 | SRHTHT (IBEHZERAT) H25.8.7 pN=1 104 19.9 30
121 | SHTHET (BEHZEEF) H25.8.7 K= 9.93 31.7 42
122 | SRHTHT (IBEHZERA) H25.8.7 = 124 28.6 41
123 | SHTHT (IBEHZEEF) H25.8.7 K= 10.1 25.1 35
124 | SEHTHT (IBEHZERAT) H25.8.7 K= 16.4 276 44
125 | SEHTHT (IBEHZERF) H25.8.7 = 12.2 20.1 32
126 | SEHTHT (IBFHZEIRAT) H25.8.7 K= 8.67 28.0 37
127 | S4THT (IBEHEEF) H25.8.7 = 133 274 41
128 | Z4THT (IB{FAZIEF) H25.8.7 K= 15.9 238 40
129 | SHTHT (IBEHZEEF) H25.8.7 = 105 27.8 38
130 | Z4HET (IB{FZEF) H25.8.7 K= 15.9 28.4 44
131 | SHTHT (IBEHEEF) H25.8.7 = 10.2 26.7 37
132 | Z4HT (1B ZEF) H25.8.7 K= 14.2 30.8 45
133 | SEHTHT (IBEHZERHT) H25.8.7 = 158 30.3 46
134 | Z4THT (1B ZEF) H25.8.7 K= 12.8 274 40
135 | SEHTHT (IBEHZRHT) H25.8.7 = 15.6 28.0 44
136 | ZHTHT (IB{FZEF) H25.8.7 K= 12.8 26.1 39
137 | SHTHT (IBEHZERAT) H25.8.7 = 13.1 27.9 41




AEHER

No 15T £REY B By AHDEHE > L-134 9 L-137 BHIE
(Ba/ke) (Bakg) (Bakg)
138 | SRHTHT (IBEHZERHT) H25.8.7 = 13.3 33.8 47
139 | SHTHT (IBEHZEEF) H25.8.7 K= 13.8 31.2 45
140 | SEHTHT (IBEHZERAT) H25.8.7 = 11.1 32.6 44
141 | SEHTHET (IBEHZEEF) H25.8.7 K= 12.6 24.8 37
142 | SEHTHT (IBEHZERAT) H25.8.7 = 10.1 22.7 33
143 | SHTHT (IBEHZEEF) H25.8.7 K= 9.36 20.9 30
144 | SEHTHT (IBEHZERAT) H25.8.7 K= 9.88 232 33
145 | SEHTHT (IBEHZERF) H25.8.7 = 103 21.5 32
146 | SEHTHT (IBEHZERAT) H25.8.7 K= 1.0 215 33
147 | S4THET (IBEHEEF) H25.8.7 = 20.9 477 69
148 | Z4THT (IBFZEF) H25.8.7 K= 275 55.0 83
149 | SEHTHT (IBEHZEEFT) H25.8.7 = 20.8 44.6 65
150 | Z4THT (IBFZEF) H25.8.7 K= 19.3 48.9 68
151 | SEHTHT (IBEHEEF) H25.8.7 = 20.2 45.3 66
152 | Z4THT (1B ZEF) H25.8.7 K= 24.3 56.0 80
153 | SEHTHT (IBEHZEEHT) H25.8.7 = 15.6 46.4 62
154 | Z4THT (IB{FZEF) H25.8.7 K= 25.6 51.8 77
155 | SEHTHT (IBEHZEHT) H25.8.7 = 27.2 51.5 79
156 | ZHTHT (IBFAZEF) H25.8.7 K= 33.3 59.7 93
157 | SHTHT (IBEHZERHT) H25.8.7 = 23.7 50.9 75




AEHER

No 15T £REY B By AHDEHE > L-134 9 L-137 BHIE
(Ba/ke) (Bakg) (Bakg)

158 | SEHTHT (IBFHZERHT) H25.8.7 = 22.9 54.7 78
159 | SHTHT (IBEHZEEF) H25.8.7 K= 21.9 44.3 66
160 | SEHTHT (IBEFHZEIRAT) H25.8.7 = 23.8 54.3 78
161 | SEHTHT (IBEHZEEF) H25.8.7 K= 20.9 44.1 65
162 | SEHTHT (IBEHZEIRAT) H25.8.7 = 22.6 39.2 62
163 | SEHTHT (IBEHZEEF) H25.8.7 K= 23.5 54.6 78
164 | SEHTHT (IBEHZEIRAT) H25.8.7 K= 18.0 45.6 64
165 | SEHTHT (IBEHZEEFT) H25.8.7 = 20.4 52.4 73
166 | SEHTHT (IBFHZIRAT) H25.8.7 K= 222 458 68
167 | SEHTHT (IBEHEEF) H25.8.7 = 22.6 477 70
168 | ZHTHT (IB{FZIEF) H25.8.7 K= 20.6 49.8 70
169 | SEHTHT (IBEHZEEFT) H25.8.7 = 21.8 49.1 71
170 | Z4HET (IBFZEF) H25.8.7 K= 24.2 50.3 75
171 | S4THT (IBEHZEEF) H25.8.7 = 25.0 50.8 76
172 | Z4HET (IBRZEF) H25.8.7 K= 23.6 53.7 77
173 | SHTHT (IBEHZERH) H25.8.7 = 274 50.8 78
174 | Z4THT (IBFZEF) H25.8.7 K= 23.9 47.0 71
175 | SEHTHT (IBEHZERH) H25.8.7 = 34.0 69.6 100
176 | Z4THT (IBFZEF) H25.8.7 K= 28.8 52.8 82
177 | S4THT (IBEHZERH) H25.8.7 X=E 25.6 55.3 81




AEHER

No 15T £REY B By AHDEHE > L-134 9 L-137 BHIE
(Ba/ke) (Bakg) (Bakg)
178 | SRHTHT (IBEHZERAT) H25.8.7 = 20.4 57.8 78
179 | SHTHT (IBEHZEEF) H25.8.7 K= 27.3 61.7 89
180 | SRHTHT (IBFHZEIRAT) H25.8.7 pN=1 35.1 67.6 100
181 | SEHTHT (IHEHZEEF) H25.8.7 K= 30.1 61.7 92
182 | SRHTHT (IBFHZERAT) H25.8.7 = 28.1 62.2 90
183 | SEHTHT (IHEHZEEF) H25.8.7 K= 29.0 68.9 98
184 | SEHTHT (IBFHZEIRAT) H25.8.7 K= 29.1 66.2 95
185 | SEHTHT (IHEHZERFT) H25.8.7 = 235 68.7 92
186 | SEHTHT (IBFHZEIRAT) H25.8.7 K= 254 63.4 89
187 | SHTHT (IBEHEEH) H25.8.7 = 274 68.3 96
188 | Z4THT (IB{FZIEF) H25.8.7 K= 30.5 62.7 93
189 | SEHTHT (IHEHZEEFT) H25.8.7 = 24.7 61.8 87
190 | Z4HT (IB{FZEF) H25.8.7 K= 26.7 70.9 98
191 | SEHTHT (IBEHZEEF) H25.8.7 = 29.1 53.9 83
192 | Z4THT (IB{FZEF) H25.8.7 K= 31.0 60.9 92
193 | SEHTHT (IBEHZEEHT) H25.8.7 = 24.7 60.4 85
194 | Z4THT (IBFZEF) H25.8.7 K= 28.2 61.6 90
195 | SEHTHT (IBEHZEHT) H25.8.7 = 28.2 70.2 98
196 | ZTHT (IB{FAZEF) H25.8.7 K= 26.4 56.0 82
197 | SHTHT (IBEHZERHT) H25.8.7 = 26.2 58.6 85




AEHER

No 15T £REY B By AHDEHE > L-134 9 L-137 BHIE
(Ba/ke) (Bakg) (Bakg)
198 | SEHTHT (IBEFHZERHT) H25.8.7 X=E 314 69.6 100
199 | SEHTHT (IBEHZEEF) H25.8.7 K= 26.7 60.5 87
200 | S4TET (1B ZBFT) H25.8.7 = 21.7 66.2 88
201 | Z4ET (1B ZEEF) H25.8.7 K= 28.7 57.0 86
202 | S4ET (1B ZBFT) H25.8.7 = 28.9 57.8 87
203 | F4THET (I EF) H25.8.7 K= 28.8 55.2 84
204 | SATET (IBGZRF) H25.8.7 K= 26.1 61.1 87
205 | S4TET (1B ZEF) H25.8.7 = 26.7 61.4 88
206 | SATET (IBGZRF) H25.8.7 K= 25.7 72.9 99
207 | SAET (IRFHEEH) H25.8.7 K= 32.8 63.0 96
208 | SHTHT (IBGHEREF) H25.8.7 K= 28.4 66.3 95
209 | E4TET (1B ZEF) H25.8.7 = 32,0 64.2 96
210 | SHTHT (IBGHERF) H25.8.7 K= 27.1 62.4 90
211 | S4ET (I BF) H25.8.7 = 26.6 59.0 86
212 | HTHT (IBGHERF) H25.8.7 K= 25.6 59.6 85
213 | S4ET (I8 ZBFT) H25.8.7 = 26.8 55.3 82
214 | SHTHT (IBGHERF) H25.8.7 K= 25.1 57.1 82
215 | S4ET (1B ZBFT) H25.8.7 = 155 49.0 65
216 | SHTHT (IBGHERF) H25.8.7 K= 174 40.4 58
217 | S4ET (1B ZBFT) H25.8.7 X=E 20.7 40.4 61




AEHER

No 15T £REY B By AHDEHE > L-134 9 L-137 BHIE
(Ba/ke) (Bakg) (Bakg)
218 | S4TET (IBFZBFT) H25.8.7 = 18.7 485 67
219 | Z4ET (IBFZEEF) H25.8.7 K= 175 38.8 56
220 | S4ET (1B ZBFT) H25.8.7 = 19.0 49.8 69
221 | FAET (I8 EF) H25.8.7 K= 232 48.9 72
222 | SAET (1B ZBFT) H25.8.7 X2 26.5 51.4 78
223 | FAET (IBFZEEF) H25.8.7 K= 21.3 46.0 67
224 | SATET (IBGZBFT) H25.8.7 K= 28.1 426 71
225 | FAET (IBFZEEF) H25.8.7 = 26.8 65.1 92
226 | SATET (IBGZBF) H25.8.7 K= 275 58.1 86
227 | B4ET (I ZEF) H25.8.7 = 222 58.1 80
228 | SHTHT (IBGHERH) H25.8.7 K= 33.3 54.7 88
229 | F4ET (I ZEF) H25.8.7 = 24.0 56.0 80
230 | SHTHT (IBGHEEF) H25.8.7 K= 332 64.7 98
231 | S4ET (IR ZEF) H25.8.7 = 26.3 58.5 85
232 | HTHT (IBGHERA) H25.8.7 K= 27.1 58.1 85
233 | S4TET (I8 ZBFT) H25.8.7 = 23.0 56.3 79
234 | SHTHT (IBGHERF) H25.8.7 K= 26.1 48.7 75
235 | S4TET (1B ZBFT) H25.8.7 = 27.7 68.3 96
236 | SHTHT (IBGHERF) H25.8.7 K= 24.7 56.3 81
237 | SATET (1B ZBFT) H25.8.7 = 25.2 62.5 88




No

5

RERE B

AEHER

REDIELE trL-134 9 L-137 EEE
(Bakg) (Bgkg) (Bg. kg)
238 | FH7HET (IBFZEEH) H25.8.7 K= 24.0 53.2 77
239 | EH7HET (IBFZEEH) H25.8.7 K= 26.9 62.6 90
240 | EH7HET (IBFZEEF) H25.8.7 K= 24.9 53.3 78
BRBEEIZBT2—BEBROEEME 9L :100Ba/kg(t> 9 L-134, 2O L-13TDEE(E)

HEEME: LD L-134EEL D L-13TDEEEIZDOVTIX, BEMEF 2 (LU SIHTEZRIEREALI-LD) TRELTULET,




RERE-AIVITRERRISOLVTHERER -58)

BT H L
5255
100Bq/kgZ #8253 DO
BIERERE
No S5 REB R HH0iEE 5 L-134 £ L-137 SHIE
(Bg.kg) (Bg. kg) (Bg.kg)
1 | EIFET(IBFEGF) H25.8.9 XK= 5.24 8.80 14
2 | EITET(IBFZEEH) H25.8.9 KE BRHE9(<4.6) 717 7.2
3 | EIFET(IBFZEEH) H25.8.9 K= BREE9(<4.2) 7.15 7.2
4 | RFET(IBFEZEGH) H25.8.9 K= BREE3(<45) 7.70 7.7
5 | FEH7ET(IBFZEEH) H25.8.9 K= 5.84 8.73 15
6 | ZHTET(IHFEZEH) H25.8.9 XK= BREE9(<44) BRHE9(<43) BEed
7 | EIET(IHFZEEF) H25.8.9 XK= BREE9(<4.3) BRHEE9(<4.0) BrREed
8 | ZiTET(IBFZEGH) H25.8.9 K= 421 6.68 11
9 | EITET(IBFZEEF) H25.8.9 K= BREE9(<5.1) 9.72 9.7
10 | SH7ET (IBFZEEH) H25.8.9 K= BRHEEI(L5.5) 7.38 74
11 | E37ET (IBFZEEF) H25.8.9 K= BREE9(<5.4) 7.59 7.6
12 | 28T (IBFZEF) H25.8.9 XK= 7.46 10.7 18
13 | ZHrET (IBFZEEH) H25.8.9 K= BRHEE9(<5.6) 5.76 5.8
14 | Z8T (IBFZEF) H25.8.9 XK= BRHET(<48) 6.86 6.9
15 | ZHrET (IBFZEH) H25.8.9 K= 5.21 7.30 13
16 | ZEH7ET (IBFZEEH) H25.8.9 K= BREE9(<54) 7.85 7.9
17 | S4BT (IBFZEEH) H25.8.9 K= BREE9(<47) 11.0 11




AEHER

No 15T £REY B By AHDEHE > L-134 9 L-137 BHIE
(Ba/kg) (Bakg) (Baskg)

18 | SRHTHT (IBEHEEFT) H25.8.9 = 5.56 7.83 13

19 | RHTHT (IBEHEEF) H25.8.9 K= BRHE9(<5.3) 7.50 75

20 | SHTET (IBFHZEF) H25.8.9 = BRHEE7(<48) 7.84 7.8

21 | RIFHET (IBFZEH) H25.8.9 K= BRHE9(<45) 8.16 8.2

22 | SITRT (IBFHZIEF) H25.8.9 = BRHEE7(<4.9) 9.83 9.8

23 | RIFHET (IBFZEF) H25.8.9 K= BRHE9(<48) 5.97 6.0

24 | FAFHET (1BFZRH) H25.8.9 K= BRHEET(<47) 5.68 5.7

25 | RAFHET (IBFZEH) H25.8.9 = 5.33 4.75 10

26 | RiTHT (IBGHERH) H25.8.9 K= 6.60 6.53 13

27 | SMHET (1B FZIEH) H25.8.9 = BRHEET(<37) BRHEE9(<44) BRHEEY

28 | SFAFHET (IBFZEH) H25.8.9 K= BRHE9(<4.9) 8.97 9.0

29 | FIFET (IBFZEF) H25.8.9 = BRHE9(<4.0) 3.75 38

30 | EAFHET (IBFZEH) H25.8.9 K= BRHE9(<5.2) 6.48 6.5

31 | STHT (IBFZIEH) H25.8.9 = BRHE9(<48) BRHEE9(<4.9) BRHEY

32 | EAFHET (IBFZEH) H25.8.9 pN=1 BRHEET(<47) BRHEET(<41) BHET

33 | FIFHET (IBFZEH) H25.8.9 = BHE9(<5.6) 5.06 5.1

34 | FAFHET (1BFZEH) H25.8.9 pN=1 BRHEET(<41) R 9(<4.0) BHET

35 | ZAFHET (IBFZEH) H25.8.9 = BRHE9(<3.9) 4.98 5.0

36 | ZRAFHET (IBFZEH) H25.8.9 K= BRHE9(<3.9) 6.64 6.6

37 | EIFHET (IBFZEH) H25.8.9 = 4.93 6.01 11




AEHER

No 15T £REY B By AHDEHE > L-134 9 L-137 BHIE
(Ba/kg) (Bakg) (Baskg)

38 | SHTHT (IBFZIEH) H25.8.9 X=E BREET(L5.1) 7.44 7.4

39 | RIFHET (IBFZWEH) H25.8.9 K= BRHEET(<37) 4.72 4.7

40 | SRAFTHET (IHEGHZEEH) H25.8.9 pN=1 BHE9(<38) ‘e 9(<44) : Jarhcar

41 | BRATET (IBGHEEF) H25.8.9 pN=1 BRHEET(<47) B E9(<5.2) BHEd

42 | RITHT(IBFZEF) H25.8.9 X2 4.72 8.10 13

43 | FATHET (IBGHEEF) H25.8.9 K= BRHEET(<47) 6.46 6.5

44 | RATHET (IBGZBF) H25.8.9 K= BRHEET(<3) 5.78 58

45 | Z4THET (IBGZEEF) H25.8.9 = BRHE9(<3.9) 6.52 6.5

46 | SFATHET (IBGZBF) H25.8.9 K= BRHEEY(<44) 3.57 36

47 | R (IBFZEF) H25.8.9 = BRHEET(<5.1) R 9(<45) BRHEEY

48 | SEATHT (IBGHZRF) H25.8.9 K= BRHEET(<4) 8.02 8.0

49 | RITHT (IBFZEH) H25.8.9 pN=1 BRHEE7(<4.9) B 9(<5.5) BREEY

50 | SRiTHT (IBGHERF) H25.8.9 K= 12.4 275 40

51 | RiTHT (IBGHEGH) H25.8.9 = 6.40 121 19

52 | ZTHT (IBGHEEH) H25.8.9 KE BRHE9(<5.3) 6.13 6.1

BREEEICBIT2—BESOEEE 9L :100Ba/kg(EHL-134, OO L-13TDEEIE)
HEEE 2V L-134EEL D L-13TDEEEIZOVTIE. B F 24 (LN LIHTEZMIEEAL-LD) TRELTULET,




RERE-AIVITRERRISOLVTHERER -58)

BT H L
5
100Bq/kgZ #8253 DO
BIERERE
No S5 REB R HH0iEE 5 L-134 £ L-137 SHIE
(Bg.kg) (Bg. kg) (Bg.kg)

1 | EIFET(IBFEGF) H25.8.19 K= 12.4 26.2 39

2 | EITET(IBFZEEH) H25.8.19 KE 9.52 229 32

3 | EIFET(IBFZEEH) H25.8.19 K= 17.5 28.2 46

4 | RFET(IBFEZEGH) H25.8.19 XK= 26.4 56.1 83

5 | FEH7ET(IBFZEEH) H25.8.19 K= 26.3 63.9 90

BRBEECIBTA—REBEROREE 9L 100Bg/kg(t>HL-134, 22 H L-13TDOEE(E)
XKEEME: 2PV L-134E I L-13TDOEEMBEIZONTIL., B F24T (LENSIHTEZEIEREALIZE®) TRELTLET,




